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Solve only 5 of the 6 problems.
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1. Find the values of x for which the series converges (a) absolutely and (b) conditionally. Z
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2. Find an equation of the tangent plane to the sphere x% + y*+ z? = 6 at the point (1,-1,2).
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Use triple integral in cylindrical coordinates to find the volume of the solid _ [ / e
3. G that is bounded above by the semi- sphere z= \/ 25— x2 —y?, below by | L
the xy-plane, and laterally by the cylinder xX2+y?= | '@ A
- i | ¢
o< r< 3 ,_\5'7-———"2\
, N\ .
= oseos 2T S

zs‘»r‘

e § g (7 e | [

o B=0

4 = o
_ z_ﬂ-g r"?r‘o(r‘.__ S _fctd ﬂ—f f"

u=25—
2;'—-rz:bt
—2rdr=a4 =
3 3
Tz |25 5-47)= 122
=T = 1}1 = 5;“ ( ) =
6

12:2.'!1“/3

4. Find the shortest distance from the origin to the surface xyz
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5. Evaluate the integral ff cos( )dA where R is the trapezoidal region with vertices (1,0), (2,0), (0,2)

and (OLB by using the change of\qmblm U=y-x,v=y+x.
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6. Evaluatef f —d)d\ Hmt Reverse the order of integration.
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